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OZEZe SA2 M| AFID DI 2S
2,000,000€ = 40CH 80,000
MAHDISHH=E 2l 393,086 327,247 65,839
201 LBt 9| 50,016 8,500 41,516
01 AP 22| d| 6,000 8,500 A 2,500
OME o SAER S EE= M
4009 = 5,00000F * 3= 6,000
02 222494l 44 016 0 44 .016
OBSZe SAS MYD| AFIDE DI SA
cta ) AlEE 5,000& * 262CH *~ 88 10,480
O2sFY SAZ2 MY Dl RFIDS DI SAI&
2l gl 16,000& = 262CH ~ 8& 33,536
206 M = Hl 295,350 274,750 20,600
01 X2 H| 295,350 274,750 20,600
OMHDIESM 8SS2E HE 198, 100
—MEMY I 25 HEE 90& = 1,800,0000H 162,000
~SMSRHIIE 25 M
30& = 800,0000H 24,000
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Mol ™ el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—338 8% W 90& = 100,0000H 9,000
—SAESFHII=S &8 & M&
31& = 100,0000H 3,100
OHSFEHE SASIHIIS HESI FL(3,
5¢ ) 7,000& = 10,000Al CH 70,000
OgAg(AY 5) SASFHIIE HHEEI +
(208 ) 14,000& * 1,50004 21,000
OMEE =HE Ot 2503 * 25,0000H 6,250
307 g2+l & 47,220 43,497 3,723
05 BIZHRI & 3 47,220 43,497 3,723
OXgJISE/E B2 47,220
— B Mg D] 687,000,000& * 6% 41,220
—SASFHIIS 100,000,000& * 6% 6,000
802 BHEt= DI EF 500 500 0
03 U223 ES 500 500 0
OZZH HBE2E +48 &=
10,0002 * 503 500
()HEsEs+E242 X 25,000 20,000 5,000
< 7,500
Al 17,500
301 et d = 25,000 20,000 5,000
= 7,500
Al 17,500
12JEEd= 25,000 20,000 5,000
oNgss =8=242 N
25,000,0002 * 14! 25,000
= 7,500
Al 17,500
Hesss=d248sis 198,500 198,500 0
301 gt d= 198,500 198,500 0
12 JIEtE& = 198,500 198,500 0
OHXH =AHEB&S 198,500
— HHlE 120& = 1,500,000kg 180,000
—s%deg(RaY) 150& = 10,000kg 1,500
—sodgY(EctAE) 800& * 10,000kg 8,000
—s%=X 1,000& * 7,200kg 7,200
— HX 30& * 30,000kg 900
—HRcg 30& = 20,000kg 600
—HEctAE 30& = 10,000kg 300
(B)sZEHEHIE =HELS 115,833 106,000 9,833
= 22,500
= 28,000
Al 65,333




S MDD He (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
301 Bt A= 115,833 106,000 9,833
= 22,500
& 28,000
Al 65,333
12 JIEtE2 A= 115,833 106,000 9,833
OsZHHlY =243 115,833,000& = 14! 115,833
= 22,500
= 28,000
Al 65,333
(Z2)2=dolE &= 50,000 50,000 0
= 15,000
= 10,500
Al 24,500
401 AlEH|IZL £ 0HY| 50,000 50,000 0
= 15,000
& 10,500
Al 24,500
01 Al& B 50,000 50,000 0
Og9=sHbdssdotEEESAE
5,000,000 = 10902 50,000
= 15,000
= 10,500
Al 24,500
()2 MY AFH X H 2 240,000 0 240,000
= 120,000
& 36,000
Al 84,000
405 KHoHFE S HI 240,000 0 240,000
= 120,000
& 36,000
Al 84,000
01 XA 2B F S| 240,000 0 240,000
OXtg R (C=HAHAZXF) 240,000,0002 = 1CH 240,000
= 120,000
= 36,000
Al 84,000
SE0Istd 22 979,432 25,416 954,016
A0 22 979,432 25,416 954,016
201 et 25,432 21,512 3,920
01 AR 22l ] 6,000 2,200 3,800
Ot AIRA HEASE & ADHd 23
2l 200,000 = 43| 800
OstADIss HEX AS BHA AXS(HAE
oF) 600,000 = 2CH 1,200
O=E0ISE AIRA L HAXS DR FX
o= 4,000,000 = 14 4,000




AN sMSZ Y
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HM: HIISLH(HIES/HIIE)
chelr 2Z0Is  2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 =224l 19,432 19,312 120
OgZ0latad M2 2 XX AlE2e
1,000,000& * 2J0H £ 2,000
O30 AMRY X NMIAE &2
1,000,000& * 12& 12,000
OgZ0Iad MRY Mot
130,000& * 12& 1,560
OZ0Iatd XX YHAAY SHAES
176,000& » 128 2,112
OEgd Azt (Hes8,8%)
880& * 3004 = 43 1,056
OZ0Iatd MR MRAE 222 HaIH|
(%) 880& * 2004 = 43 704
401 Al HI R 2018 950,000 0 950,000
01 A& HI 950,000 0 950,000
OS30Iatd ARY ¥ FaXy X M= 950,000
—SAOBY ARY S UE
440,000,000& * 14 440,000
—HAXY MK AF
510,000,000& * 14! 510,000
405 RHoHF S HI 4,000 0 4,000
01 AL EFSFHSHI 4,000 0 4,000
Ogtdilstd 2825 AX)|
2,000,000& =« 2CH 4,000
Q- Hf A2 (BFB2S/MolxE - 2F) 1,257,611 4,244,032 AN2,986,421
= 10,000
as 500,000
< 184,360
Al 563,251
=&zt 1,257,611 4,244,032 AN2,986,421
= 10,000
s 500,000
< 184,360
Al 563,251
dHatx 22 89,357 81,529 7,828
101 @124 dl 25,952 23,404 2,548
04 JIZHHZ22XREES 25,952 23,404 2,548
O3sstad |zl 25,952
—gaE 66,8003 * 1H » 225¢ 15,030
—52= 100,200& » 1¥ = 1092 10,922
201 et 60,120 54,840 5,280
01 At 22l 20,620 20,620 0
OJs=h ¢ FaiXx ¥4 2@ 222 NF
403 = 4,0008 * 28 320
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SN ESMEHD
B 9 M4 B2 (BPLS/MEAT - +3)
el amael (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 2284 51,890 0 51,890
O=HE MHGHESIAMY SA= ZLUHE 8
== 21,890,000& * 14 21,890
OHIZQY 28 U HLAL AP
30,000,000& * 14 30,000
(Z)SESTAMNLAY 50,000 180,000 A 130,000
< 15,000
Al 35,000
401 A& HIZ 201 I 50,000 180,000 A 130,000
< 15,000
Al 35,000
01 A& HI 50,000 178,704 A 128,704
OZ2STA MHEAEY 50,000,000& * 14l 50,000
< 15,000
Al 35,000
(Z)y3=ss=tzg a2y 38,720 71,722 A 33,002
< 19,360
Al 19,360
101 @124 dl 36,320 67,102 A 30,782
< 18,160
Al 18,160
04 JIZtHZ22HEE =+ 36,320 67,102 A 30,782
@eilal.| 66,8003 * 2F » 200 26,720
< 13,360
Al 13,360
OsZZ A& ¢l 20,000& = 2% = 160 6,400
= 3,200
Al 3,200
OBILNR 4U2ER
200,000& = 2H » 8& 3,200
< 1,600
Al 1,600
201 L2l 2,400 4,620 N2,220
< 1,200
Al 1,200
01 At 22l 2,400 4,620 A2,220
O ZAE =2l 150,000& = 2H 83 2,400
< 1,200
Al 1,200
(Z)MEStE S /JANSE (SAHA) 1,000,000 0 1,000,000
s 500,000
< 150,000
Al 350,000
401 AIEHIZL 28I 1,000,000 0 1,000,000
s 500,000
< 150,000
Al 350,000




SM: SMERD
B 9 M4 B2 (BPLS/MEAT - +3)
el amael (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 993,700 0 993,700
OSHE MHGHE SJ ALY
1,000,000,000& * 14! * 99.37/100 993,700
s 496,850
< 149,055
Al 347,795
03 AlE S THHI 6,300 0 6,300
OBHE MEHGHE =SHAY
1,000,000,000& * 14l * 0.63/100 6,300
s 3,150
< 945
Al 2,205
(2)IELEBSHT UMY 20,000 0 20,000
2 10,000
Al 10,000
401 A& HIZ 201 I 20,000 0 20,000
= 10,000
Al 10,000
01 A& HI 20,000 0 20,000
OJIESHZEFT L2 CIAY
10,000,000& * 2J0H £ 20,000
= 10,000
Al 10,000
A2 (S22 0)(JIEH/IIE) 2,180,310 2,277,588 AQ7,278
ol 2 gl 2,025,818 2,125,376 A 99,558
ol 2,025,818 2,125,376 199,558
101 @124l 2,025,818 2,125,376 A 99,558
03 RIHAZ 22+ 2,025,818 2,125,376 A 99,558
OgZdilsta o2 1,992,468
—Jl=s 2,795,500& » 40H » 12&8 1,341,840
—d2aY  2,268,8403 * 40¥ * 50% » 23l 90,754
—JIE< (= X) 40,0008 * 40Y » 128 19,200
— t=E==g(JIEH 40,0003 = 80Y » 123 38,400
— S E SOt
2,268,840% * 40 * 60% * 23| 108,905
—AN2e2fsg
16,8602 * 150% * 10Al2t = 40Y = 123 121,392
—5¢2f=E
84,3004 * 150% » 402 = 32 = 12& 182,088
— RS FEII=E
134,880& » 40 » 15 80,928
—NESHEXSY 2,391
nsstu 298,800& * 2H =« 43| 2,391
— ey 100,000& 3% = 123 3,600




SH: SMEED
M. HNSHBH (SMSH ) (IIEHDIE
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— SHD S SFEHAF XS (SHHE )
66,000& * 45 * 13| 2,970
O&tHDIgE W= 32,000
-== 200,000 * 40¥Y = 1=t 8,000
—ol= 100,000 * 40¥ = 1= 4,000
— 29 30,000& * 40Y = 1= 1,200
— &3 50,000& * 40 x 2% 4,000
— & 50,000& * 40Y = 1& 2,000
— OFNM X)) 20,000& * 40 = 1= 800
—d3X) 100,000 = 40% = 1= 4,000
— g X)) 100,000& = 40 = 1= 4,000
—JIEHOIAR ¥ B5otAd E)
100,000& * 40 4,000
OstF0IgtY MY EBAH|(SHHME ) 1,350
—HgE EESH(IAE S)
30,000 * 459 % 13 1,350
Jl22Z bl 154,492 162,212 2,280
Jl23Hl 154,492 162,212 2,280
201 et A | 30,292 30,292 0
01 AFR 2t 2l dl 30,292 30,292 0
O=AMEXN #¢ 15,000& * 288+ A = 12& 5,040
OSZ20Aadl 7,000& * 64l x 28H * 128 14,112
Ogdbtf42 100,000& = 12& 1,200
O EAFLHI 50,000& * 12& 600
O4LAa2 =4t 7,660
— 2AD #2(AE) 500,000& = 1.504 750
— T2l %2 100,000 * 5CH = 50/100 250
— SA EY 200,000& = 53] = 1.504 1,500
— D2 EU(E8) 200,0008 » 53 * 404 4,000
—PC =2l 100,000 = 28CH = 20/100 560
— J|Et =%=2lH]| 50,000& = 12& 600
OJIEF AFR 22l bl 5,000& * 28 x 12& 1,680
202 04| 115,920 115,920 0
01 2LHOHI 115,920 115,920 0
O=sMaFl LRFX ¢l 115,920
— 2L o4 8] 20,000& * 28Y * 122 * 128 80,640
— 2204 bl 90,000& = 28Y * 14 35,280
203 € R =&lY| 7,080 4,800 2,280
04 2SI L RF=AH| 7,080 4,800 2,280
ORANEEYERFAH| 590,000& * 12& 7,080
204 &2 = F H| 1,200 1,200 0
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=AEE
HE2AZH (M2 0)(JIEH/DIE
Jl2&dl cet )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 ¥R A 1,200 1,200 0
ONMZARLHAY (SMSBBE)
100,000& = 1H 1,200
Hees(sMstd ) (2SS /Mot+E - =2) 1,135,397 1,548,845 A 413,448
HEHHXZ 1,135,397 1,548,845 A 413,448
LIS HeHXI & 1,135,397 1,548,845 AN413,448
701 JIEtI HEEES 634,000 1,056,040 A 422,040
01 JIEteI HEE= 634,000 1,056,040 AN 422,040
O=ZINHSEH dES 634,000
—330t=HMelAlE 2922 29|
50,000,000& * 64 XI = 300,000
—330t=HelAlE BEHE 24
3,600,000& * 400 2 144,000
— 272 0t2ot=Hel&d ZAIMA &l (PLC)
wWHALS 190,000,000& * 14 190,000
702 JISEEZS 501,397 492,805 8,592
(O RIE=RSE= 501,397 492,805 8,592
OHVISHMeANE=HFUXNRAIIS 8E3 501,397
—NXNHHEAS 400,000,000& = 14 400,000
—dEE MY IS SFEOHA 10/100
894,960,000& = 10/100 89,496
—dEE HII2Hdel>=+=2 10/100
119,010,000& = 10/100 11,901




